
356 

�������W�	�
   �א��


	א��������18��

א������
א����
א�������
	א����

 


18 . 1  ���  ����	
 ���
�	
 ��
��� ���Radio nucleus  

  �
 T���� �(��8        9���$�
 9P��4�$�
 �
 ��=	 ����
�
 ��C
�
 �����F.Joliot 
 ��� 9:1934 �
 *��"	 I.Joliot-Curie (1897-1956) . E��� �� ��
���
 9:

         ����� �� 9��
 �������C� %�?� ���
 ��7"�
 U���	  9:   ��P��4�$�
 ���?(�
 �
 ��7") 
    <��$
�
 *��"	 ��
��=�
 �����
 �	=	 +��8 �� �"�	�	��
  ,�� �
 �=	 ��	

 	 ������
1  U��1   �
 �7"1200         �!�����
 ,�!� T���� ��"�	 ���� Isotopes 
�������
 +�8�
 �=	:   

1 � 9P��
�"�
 ��$�
 +��8 �� �	��
�	��
	 �	��
��
 �7
 ������
 ,�� ��:     

�	��
�	��
 ����� ���&��
 ����
� *��"	.  

2 �        <��$
�
 +
���
 �
	
 ���(� ����&
	 ��:   �   �!����" ��		��
 Isotope  
��
���<� �����.           

3 �              ��!�	��	���
 �����!CV� �!
4<�
	 �����
�
 �
	
�
 %�@  +��8 ��	  
 �
 �=��
�
 <��$
�
� ��		��
 )        �����
�
 ��
��=� �����
�
 �
	
�
 ,�� %�(� 	1 

'���� F����
 Isotope D���7 D<
�"� 9���8�
 �����
 #�&3" ��
 O$� #$���
 �
�9 
  #� ���&�
 �
4�
�
	. 7
	 �        ��
��=� �
	
�
 %�@ �
 �=����
 ������
 *�� ��� D5 

�����
�
.   

            ��
��!=� �	!��
��
 ���
 �
�� %�(� �����
 ,�� 9: D<7
α     �!
 �!=����
 
�����
�
)�
 ���� ��� �
 ,�� %�(�
 ���
� ���8�� !Phosphor   I�!�
 EC
�
 

'���(� I	��� 9$���
 ,�
�� T = 2,55min ) �
 ���!
 *��"	Silicium  �!���7�
 
�
 �
��= *��"	 !Positron  .. ��4
�(1e

0) ������
 �����
�
 ��� ��
?� 9��
:  

           13Al27 + 2He4 →15P
0n+٭30

1                                   

                            ↓14Si30+1e
0                               
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           �����!C� ��
��!=� ��$�
 �
�� ��:�@ 
��  *��"	α       �!
 *��!" �!=��
�
 
������
 �����
��� ���/
�
 ����=�
 ������
	 �<��$��
 ����
� ���8�� �����
�
:   

              6C
12+2He4 →8O

0n+٭15
1                                  

    ↓7N
15+1e

0                                                 

     �!���� �!=��
�
 ��!�	��	����� %�!(�
 ���
� *��"	Radio nucleus	1  
Isotopes  �  � ���    �!���=�� ���!C +!��8 �� �&�
 ��� �
	� ��	�� ���
� 5

������
 �����
��� ����/� ,�� ��	���
 ���
�	 ��$��
:     

          8O
16+0n

1→8O
17→7N

17+1P
1                                 

         5B
11+0n

1→5B
12→3Li8+2He4                                

 �� �=��
�
 ������
 ,�� Radio nuclide��
 �   *��!"	 �!����8�
 ������
 
 ����
�
 ������
������C� B�β+ , β-  )�
	 ���	��"�M
 B��
 
��� �	�(
�
	 !

Positrons )	 �
 9���<�
?5
 ���
� 5)���
 ,��	  �=	� ���"�	 +�� �
" ���
��
� 1200���� )��
 ���	 � ��P<�
 9: ����7�
 ������
 W�� ������
:   
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           �
�!" ��C
�
 ������
 ,�� ��
���
 ��
�� ��(�
 
�� E���	 Indicator   9!: 
�=	�	�"��
	 �8�
���	���
 ���
���
	 Biology   ��
�4�
	�R�.  

18. 2   ���� �	����	
Cobalt 60   

���
 �
�
 ���� �3� �=		 ���&
 ��	=
�
 �������
	 �����8�
 ���! Cobalt 

60      #=���� 9: 2�&� 2�& ���� 	�)       !�
 ���� ����� #�����C� ���@ �
1	  !
Radium �
7�
 /����
)I	��� 9$���
 ,�
�	 T1/2 = 5,3 �����C� B�� ��� γ 

   '���(� I	��� �@�8 ���(�� 1,3MeV       �8 �� �����
 
�� U��� 	1 E���    %�!@ +�
 �
 ���
Cobalt   <��$
�
 ���	��	��� �����8�
� ��		��
 )        #!:�@ +!��8 �!� 	1 

�����
�
 ��
��=�.   

      �����C� U��
�
 �����
 
�� �
����γ     ��8���
 ��:�"
� �8�
 9:  )   *��!"	 
   ;�� ��
�4�
 9: �
����� �
 ��! Cromoson  )      �!��
���� �������
 ���� �����8 I1


�
�
�� Mutation) ���	            ��!��= �
4!�
� ��!�����
 A
	�1 *��" ���� ���
��
 ,
1�?:)      H���� ������ �3� *��" E�8��� �������
	   !H����8	 ��.     ��!�� �����!C�	 

�
Cobalt 60��P
�;�
 �
	
�
 ��(��� *��" �
���� ) ��(� *��" ,�� ��(���
 �(��8�	 
  D<7
Keim        X� ����� ���	8 ��
� /$��	 �(��� ����
	 �8�8��
     	1 %�� �	�� �"
>
��.  

18 . 3����! "�	#� ����	
 ���
�	
 $�����
    Indicator  

�
 ����� �"Radio nucleus  �H�P��
�" %���  !H�	�� *��!"	 � �Biology 
               I����
 F�
�
 ��- F�
 ��
" ���&1 
�� D<7
  ����7�
 ������
 �7
NaCL)  �	=	
 

  �
 ���
 #�!Na*  D<��@ ��C
�
 )  � I��
	   O��  M
 ���@ ��  9���!CM
 �
�?G   ,�!�	 
 �4	 ��
"�
� ��@	 �    �/	��
 �@�� �������C� ���@ )        �������!C� �!�
" �1 �!=	: 
H�= ���;�7 �
��73� 5	 ���
 ����� �8& 5 
���	�.  

1 � ���� �� ������ ������ ��! �������  Na* "#$� ���% Indicator  

       ��
 ����C 9: ��C
�
 F�
�
 ���
 �(�� D<7
     ��� �
	 ��
��
 �75   
�� O�(� ����7 
I		��
 �
���
 +��8 �� A��CM
) D<7
 
� !Geiger counter) ���
�
 +���
 9: 

o b e i k a n d l . c o m
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               !� �!�� �!
	 ��=�
 9: �
	
�
 �@��� ���� �
 �"3��� Y����
 ���
 �
E�8��  �1 
         �� T���
�
 �
	
�
 ���
=� ��=�
 9: ��"
 �" 9: +�<��    ,��-	 F�
 �
 ��=�
 ) 

 �
 �7
 �
 ��Phosphor  �  6  ��=�
 �/�� �&)  � ,��	 6   �(��
 ���
� �	�� �&.  
��	 
�����
  Indicator  9: %���� 1 ��=�
 9: ��
 I��7   �!��$�	 #!����� ���
� �
#�
��.  

   ?�
 �(� ���
�� *��"	�      �
 ����� ��@���
 ��;�
 Jod   � ���8�� EC
�
 65> 
�?�
�
)       &� EC
�
 �	��
 ����� �(��
 �(��8� *��"	      W�!
 �	=	� O1��
 88

O1��
 ��8��. ��P��4�$�
 ���
��
 ,�� �
��	 Demography  

2 � 	����&�� ���"��  ������'�  Biology  

��
� �������
 9: ��
�
 A	?	
�
 Photo syntheses  �!�$�
 ���
 9: ������
 
 T���
�
Cabbage hydrate +��8 �� U��� ���
�
 ,��	 �����
 9: CO2 H20, 

 �����
�	 O
C�
 ��C1 *��"	 Radio nucleus Indicator   O�!(� �1 E�8��� 
   ���
��
 ,�� �<��$� Y��	)  '?�1 *��"	      �
 �������
 O$�� �O2   �
 �
 O��	 CO2 

  >�
�
 �
 ��.           ��
!��
 �!7
 W��
 >�!�
�" 9!: ������
 ,�� ��
���
 *��"	 
  � %�"	 �������
�  �
 ���
 ���!Phosphor   ���
 � ���
 ��   �!7
 ���
�4�
 ���� ..

��	��
>����	��$�
	 .  

3 � (����%�� )* ������'�    

	1 ��/
 ����" ��C
�
 ������
 ,�� �
���� �
 �7"Indicator    B�!��1 9!: 
�4=�
P !�
 �7
 ��!Molecular Structure   � *��!"	 �!:��
 1   �!�����
 �!7

Element Trace  .  

     � D<7
 ������
 �(��8�
 �
���� 
���	�:��
        ���
�
 9: %	��
 ��- �
 ���� ..
�6        ����: �=
	�
 ���
�� ���"�
	 ��
"��� ��	���
 �:	��
 ���
 �&)  � %�(�	  ��!�� 

��
�
���       <��!$
�
 9!: ���	��	���
 �����C� O$�� �  �!�		��
 )     �!��$� �!��	 
          ����� D<7
 ���$��
 ���
� O�(� �
	
�
 ,�� 9: ���	��	���
1/108    ��
 ��
	 108 

o b e i k a n d l . c o m
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 8�
 ,��	 � �(��6 5 �&%�C�"  �
 ���
   !Gallium    ���
 *��"	Palladium   9!: 
1 ��C�
 ��=�MeteorW��
 ��� >�?$�
 �
 �8@���
 .  

18. 4	
 $�����
  �%�&
 Radio nucleus�'�	�
��	
 () �   

18. 1.4���+� ,�-/� 0��1   ��- Gamma defect meter γ   

��� 
L
�
 ������
 ��
��= �����C� �
���� � �� 9: 8<-�
 ��	��� ��C
   �� 9: *��"	 �����
�  ��7"	 �����
 � �
   ����
�
 A
	�1 )      +!��8 �!� *��!"	 � 

*�� �
 �7"�
	�9����
 ��	���
 Roentgen graph 9�	��
 ��	���
	 Ultra 

Sound  .  

18. 2.4   "������������) Auto radiographs  

     ��= 9: 8��& ��	���1      �
	
 #� �	=	
 ���
 	
�C� ��C!
 ��-	 )� 	  E!?
    ��	�� ��: ��=�
 
�� ���)       ��/� ��$�
 
�� ���/� ���	 �	�    ��C
�
 �
	
�
   ���!C

�
	��
 ��-	 �
 ��C
���	� �	"� 1 �	!�  !D�����)    �!��
��
 ,�!� 9
�!�	 Auto 

radiographs   5����" ��	��� D<7
 �          �!�
" ��!�
�
 
�� E
 ���� �
 ���
 
   EC
�
 �����
 �
 ���;�)  ����� ���	        
�
	 EC!
�
 �����
 �
 8��&�
 
��  !��� 

�6       ��
� 	1 +@�� 8��&�
 
�� �
 ���� �&)    � ���
��
 ,�� ���	 	    �����
 ,�� ��� E?
'���(� ��� ��/� ��:���
�
 	1 ���
�
 ,�� �����" ��"�� �.    

 9: 
���	1 �7����
 9��	�8��"��
"�
 ���(�
 I		��
 ��	���
 
�� ����
�� �
��
 
 
 ��P��4�$�
����              �!��
��
 ,�!� ��
!�3: �����!�
 ��!�	��	����� ��	�!��� �!7

Neutrography.  

18. 3.4 ������� )* 2����� ������� "�#$� ������'�    

        ��!�	��	���
 E
 ���$��� ����@ ���
 E
 ���
 ���� )      %�!(� 8�!�&�
 
�!�	 
���	��	�����.    

   �
 E
 �����
 �
 D<7
 8��&�
 ���
�
 ,�� %�@ +��8 ��	�
 ��Bor  9!: B��� 
������
 �<��$��
 �	��
 ���
..  

                  5B
10 + 0n

1 → 3Li7  + 2α
4                      

o b e i k a n d l . c o m
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  � *�� ���		       ��	�� ��: 8��&�
 �����
 ���
 �"��� ��� E?)     �!�$�
 ��!�/V�	 
     8��&�
 ���
�
 ��"��� ��?
	 ��	� ���8��)     �!
 ��!@ 9�= 	1 ��� +��8 ��	 

 &�
 ���
�
           ���
� 8��&� �� �	��
 ���
 �����" �3� Y�� �	"�	�"�
��� �/��
	 8��
        ��	���
 ��: *��" ,��/1 �
 
��	 �����
    +!��8 �� !�
	     ���!
 �����!C� �
�

�
!Lithium ���	��	����� ����$�
�
 .     

18. 4.43"���� �4 5��"��� 0��
� ������'�  Diffusions  

   ���: ��P���
 �
	
�
 ����  9��
 9�  ���   �4= ����� 	1 FCP����)     *��!" �!� 
  � ��
�=�
 ����
�
�        �
���
 �"�
1 ��;�� B��� ���
��
 ,��	 ����� 	1 FC�)  �
��	 

   �
�!� ���!�
�
 9: 
�� F�C���
 	1 �����
Diffusion Coefficient)  
�!�	 
      �7
 ����
�
 �
4�
 ���� �
���
�
�	�( 	�
�
��	     ���
�
 ��� *��"	 �R�..  ���	 

 � E�8���               �!
 �!(�@� �!(�8� ���
�
 
�� 9�8� ���
�
 9: �
4�
�
 ,�� O�(� �3
�
 ���� !Radio nucleusEC
�
 ) ��
���
 E$��
 ��: 9: 8��&�
 
�� �
��	 

    ���
�
 ��� EC
�
 �����
 ������)       F�C���
 	1 �����
 
�� ���/M	 �   �!�(� ��=
   	 ���
�
 
�� �
�  
 E��
 ��
 �" I		��
 �
���
 +��8 �� O�(���� ��(��
 ,�� �� �

 �����:Aktivity���
�
 9: F�C���
 	1 ���
�
 ���� .    

18. 5.46�%�&'� 7�", �� ��8���� ��
�� 0��
� ������'�    

            ��!"��
�
 8-�? 8P�� 9: 8;?�
 ��
	& *�"��
 D<7
 ��P�?�
 ���
�
 O��(�

 +�&� ���	��	����� ��"��
�
 9: �"�� �1 ��@ 8-
	?�
 ,�� %�(����Radio 

nucleus ���
             �
 ���� �
 ����@ ��
"� ���
 ��@ 8-
	?�
 ,�� �
	
 8�&� 	1 !
Co60)            ��	!=	
�
 *�"��5
 ���
 ���(� O�(� 8;?�
 ��
	& *�"��
 +��8 ��	 

  *��
�
 ��4 9:)              8P�!� �!
 ��!�
�
 ���!?� ��
" ���
��
 ,��� ���� *��"	 
��"��
�
 9: 8-�?�
.   

18. 6.4"�� ������'�   )*��� ��1�Filter������� 9��� 	  ��������   

�
 ����� �
���� !Radio nucleus   9:��!
�
 �!
� ������ *��" Filter 
 <
��
�
 ,��
��    �1 ��@ �&�	�
 �������
      !���
 9!: �4��	 �����  �
�!����
	 �

          B	���
 �
	
 �
 ���
 E�C� �
� ��� 9:��
�
 ,�� �� �����
	G    �!� ���� 9:	 �  

o b e i k a n d l . c o m
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���@ ��  9:��
�
 ,  
 �����$���)     � ����C� �@	 %��� ���	 	    ,�!�
�
 9!: E!?
    !�
 �
	!
 �!���� Y�!�� �
 �?� 5	 �"�� 5 ����@ ��
" �&�	�
! Radio 

nucleus            ��" 
�� ���� ��$�
��� ��	
	 �	=	
 ���/ I		� �
�� +��8 ��	 
'�=
	�;� �Q��	��� ���C
�
 ��$�
�
 ��5	1 .     

18. 7.4
� ������'�  ���:��� �4 6���� 0��  

             ��!� �
	!
�
 �
 2�
� ��		��
 �����CM
 	1 ��
��=�
 �3� %	��
�
 �

9����
 2���
5
 �	��@ ��� �
	
�
 ,�� ��(�8 �
�&? 	1 *
�:   

               ΔI = I0.e
-µx                           

   %���
 ���x      ���
�
 ���
�
 *
� 	1 �
�&? I	��� )   %���
	 μ I	���   ����7 
2���
5
)   %���
	 I0          �	!&� ��@ ��
��=�
 	1 �����CM
 ���@ �
�@ I	��� 

���
�
 ���
�
) ���<8�5
	 ΔI��
 ��
"�
 I	��� ����
�
 ��(�8 9: ��@.   

         +�	!�
 *
� O��@ �7
 �
	
�
 *
� O��(� ��
���5
 �(��8	:     +�	!�
 �!
� 
 !�
 �
 ���� ��� �	=	
 ��= �
 ��Z 9: E��
�
! Radio nucleus  )  �!
	

             ���!
�
 �
 ����
�
 �����CM
 O��(� I		� �
�� �=	� ��C
�
 ���
�� ����(
�
 ��=�

�
�
 O��@ �
 ��"
� )      +�	!�
 9!: ��!�

�
 �����CM
 ��@ ����� 9����
 ��;��
	 

          !8�
�
 *��!"	 ��	�8
�
 ����
�
 ��� +�	�
 *
� O��@ I	����� 1gr/cm2. 
    �(� *��" �
���� �(��8�
 ,��	      ,��-	 �����
 FP�$� �
�&? 	1 *
� O�.  ���
�	 

;��       ��� �	(� �
�&?�
 	1 *
��
 �� ..   ��� �	(� ���
� ��Z�     ��!�
�
 �<�� ��
" F�
 ��� [	
��� 9��
 �8�;�
 F���	 ..±4%.  

18. 8.4 ����/� )* �!"�- �4 �8����� �8��� ����"� 0��
� ������'�    

     �����C� EC� ���� E?	� O��(�
 
���	 γ      %	��
 A�$��
 ��� ���7 �	=	
 
 >��	�
 9:)            ��� ����- 	1 �P
	��
 �
�	 �����C\� I		� �
�� �=	� #���(
	 � ��

  �����C� B� �=�� 	1 98;� �	�8
�
 A�$��5
γ�P����
 ���
� %(� 
���	 .  

18. 9.4 ���&�� ������'�  "��&��� ;
� )%���%���� <����   

    	
 ������ ���
��
 ,�� ��&1 �7 E?�        �!��@	
 9: ����" �
&? ��=� �
�	� �

o b e i k a n d l . c o m



363 

  �&?�
 ���	�
 ���)           �!8(��
 9: �	�
�
 �	� �$� E@	
�
 
�� �����	 �:��
�	 
    ���;� ���@ ��=��
 E@	
� ����
�
)        8��C ���(�
 ,�� 9: ��7	 E?	  !
   �!
 E�C

�
 ���� Co60  I��
 8��C�
 �����C� O��(� I		� �
�� T��&�
 9: #� ���(
	
 E@	
 ��/�    �	�
�
 ��� �
&?�
 ��=��
 )    
�	�� ��=��
 ,�� �
�	 �     �!
 +!�4�� ��

 �
�(� ���
�
 ���@	
±0,2mm�� �'��
� F�.   

18. 10.4 �8������ =�>�� )* �*�?%�� 0��
� ������'�   

      �����C� 2���

 �1 %	��
�
 �
β-      8!�	�
 9!: Medium 5    +!���� 
��	"����        
�� �:�7"� �� 8�	�
 
��� 9P��
�"�
         �P
	�!�
 9!: �!:�7"�
 �!7
 8�	�


  ��	��
�
..1gr/cm3  ) �
�@ ��;��	 �  I	��±0,4%        #!���@ �!"

 �!�;��
 
��	 
������
 �(��8���:   

      �����CM
 *��C	 ��C
�
 ���
�
 ��� �P
	��
 ��� �
�) O�(� I��
 O1��
 �"�	 
    O�!�@ �!�Z	 �����CM
 2���

 E�
� >
	��
 �
 ]�$
 >��	 �"C ��� �	=	


M
  �����C�    �
�� �
�� �&3Geiger ��
�
 9    >��	�
 	1 �"C�
 
��� )     ���!
�
 �!
1	 
        � D<7!
 4�!;�
 �!:�7" �4	� ��C
�
6     !�
 ��!�� �!&!krypton    ��!�� 	1 

�
!Thallium .  

18. 11.4 @"/� �*�?% 0��
� ������'�  ��- 	�����A �������  

   �����C� %��?�� %	��
�
 �
 γ         ���!� �!��
� �(�(��
 9: ���1   9!C�
��
      %��?!��
 �!
�� �
�(��
μ           �!
�(�
 �!
 2��!�
5
 �!���7 	1 1,6MeV) 
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���0,3MeV          �	&��
 ��� *��"	 W��
 �
�� �&
� �����CM
 ,�� %��?�	 
  '���(� I	��� ���=��
	    ������
 �����CM
 �
�(�
 �Proportional  ��!� ����� 9��
 

         �=� 9: ���	��"�� �
 �=	� �
1cm3   ��
	 ��"
 ���� .    ��
"�
 ,��	 �  ���!(
8�	�
 
�� �:�7".   

  H�
�� %	��
�
 �
	 H�P��4�:	 �            �!
 ��!� �=	� ���
 ��
	 ��"
 ���� 9: #�1 �
������
 �����
�
 ��	��
�
 �
���
:   

             NL  = ρ.NA/A [cm3]                               

          I	��!� ��
	 ��"
 ���� 9: ���	��"�M
 ��� *��"	NL.Z 	    �!�"� *��!�
������
 �����
��� 8��
�
 
�� �:�7" �����
:   

                     N = ρ.NA.Z / A                      

       +	: �
 ��� �
	
�
 �" ��	           �����!� E��!����� *��!"	 O�!���
 ��!�
 ���
I	���Z/A = 0,5� ��� *���	 6 ���<8�5
 �&NA.Z/A  �
	!
�� ��		� ����7" 

  �
 9: ��	=	
�
 �	&��
	 W�)          �4	 	1 O�!�@ �8��� �"� E�8��� ����
 
���	 
������
 ��(��8��
 �(��8�
 ��� W��
 �:�7" ..  

 EC
 ���� ���
 #�1� 9: ��?@ �
 +
� ��� W��
 9: O�;�Sound or 

probe�
 ���� �
  !Cobalt 60�
 ���� �
 	1  !Cs137)   #!=	 �!��	 
     ��
 �����CM
 O�(� ��		� �
�
�� W��
       ��� �
 ��@���
 ��C
�
 ���
�
 �
 ����
W��
 �:�7" O��(� ��?��
 �
	
��� �	�
�
.  
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18. 12.4 0��
� ������'�  	�����Aγ , γ��"�����   

   �=� *��"	O��@      � ���" +
� ��� W��
 �:�7" 6     �!��
� �!&Compton 
  ��C��������C γ:           #!�1� 9: �	=	
 ��	8 ��?@ �4�� ��� Sound  ��	4!
  

�7
 ��C
 ���
� �
 ����! Cobalt 60 ��!$��
 A�@ ��� )   �����!CM
 /!$��	 
      �����C� 4=�� �����(�
 8��
 9: ,�� �(���	 γ       2�!���
 �
 ���$� �	=	�  

       �
 �
 ���@ A�$��
 ��� ��?(�
 
�� �	�  !Sound       �����!C� �!��$�� ���γ 
           �!�(� W��
 F8!� ��� �	=	
�
 �
���
 ��� ���C�
 ���	 ���C�
�
   �!:�7" O

8�	�
.   

18. 13.4 ������'�  0��
�7�", �� ���,"�� �"�� ��
��  	���"������   

  H�
�� %	��
�
 �
         �!
� ������
	 �8�	�
�
	 ���
���
 �
�� ���	��	���
 �1 �
     9��=	��� 	1 9P�
 8�	 ��� 8(��)       F�"�	 ������ %$&� ���
 ������
 ���&	 

 ���	��	�� F���	 ���
��)   �"�	   �
���  �
	!
� ������
 ���	��	���
 ,�� ��8��
 ��
�� ��"�    *��� ����" ��� �

�8�
 � ��"� )       ��!�	��	���
 F�" �:��
 ���
 �"�	 

      ��P�
�
	 ����=	����
 8��	�
 9: ������
�  F��1�;�.       �!�� *��" ��� �
 
��	 
       ����=	����
 �
	
�
 9: ���	��	���
 �:�7" �11  ��- �
 ��" �
 �� �
	
�
 )  � 
���	  �

 ��$�
	 �
��
 9: ��	8��
 D<7
 O��@ �"

 ���	��	���
 +��8�R�..   

�
 ���
 �
 ���	��	���� EC
 ���� 8�	�
 
�� 9: E?	�Ra or Be  �!
�� 
 �
 ���
�Sound      �(�@���� ����� ���
�
 ���	��	���
 �=��
�
   I1 )    B�� �	��	�� �" 

  �(�@��
 9: �����
 
�� �
.� 	 �
 
�� �
 ��(��� E?Sound  ��!�	��	���� �
�� 
      ��	8��
 4=�� �	��
��
 ���
 �
 �	��1 9:)         %�!? ��!@	�: �!�� �
���
 
��	 

8�	�
 9: ��	8��
 �:�7" ��
" ��/� 9��
 ���	��	���
 �<��$�.   

  ���7"�
 �5�
���5
 ,��	           �!(�� �
	
�
 ,�� �1 ��� ��� ��C
�
 �
	
�
 ������
'
P
� '��1	 �   : �����
�
	 ��
���<� 
 �=	�	�"��
 9�     ��	���
 �	���
	 �8�
	 �R�..  
��	 

>�
���
	 ������
�
 ���(�	 ���(
� ���& �	��.  
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18. 5 *+,	
 ��
-  6C14
  

  H�
�� %	��
�
 �
	 � ��:��
      ��� �
��(�
 >��C�
 �
� 1000   ���	 5000  ��� 
� (� �
����     EC
�
 ��$�
 ���� ��)))6C

14     �
��(�
 >��C�
 ,�� 9: �	=	
�
 )  !7
  �
 �������
	 ����M
 ��/� ���(�� ��$�
 ����	 R� 6C

14  *4�!���
 ��=�1 9: �	=	

 ��P�?$�
 �����CM
 �<��$� +��8 �� U��
�
	Cosmic Ray  !�
 ���!
 E
  !

Naturium������
 �����
�
 ��� :   

                               6C
14 +1p

1 7N
14 + 0n

1 →   

     �8 �� *��" U��� �����
 
��	   <��$
�
 ���	��	�� %�@ +��    �!�� ��		��
 
 �
 ���
  !Na   )          �
	!���
	 ����M
 ��= ��/�	 >�?�1 9: �	=	
 �����
 
��	

�������
	)      '���(� I	��� �����
 
��� 9$���
 �
��
	   �5760     ��
?!� 
��	 ��� 
    � �����C� B� +��8 ����� β)           �"C!� �!���8�
 9!: �=	� �����
 
��	 CO2 

    �"C ��� *��"	6C
14    ����8�
 9: ����@ ��
"� .   �����
 
�� �
4�
	  #�1    U
�!�� 

�
 �(��8�! Assimilation �������
 >�?�1 >�C�M)    >�?!��
 >�C!�M *��!"	 
         '���(� ����M
 ��= 9: �����
 
�� �=	�	 ����M
 ��� �/��
	  5 ��
"� �   Y�!��� 

 �
�- �	��
 �
 ��
	�
1/ 106 gr)   >�!�
	
 �!
� ������ D<7
	    ��!��
 �!

 � 9�	��$�
6             ��
?!
�
 �!�$�
 ��!�� ��� �	=	
�
 >��
	
�
 �/� �
 ���� �&

'���(�    �
 ���(�
 �
��
 ��� �� I
       �!
��
 �!�� �	"� �1 �=�

  ��$�
 ����� 9$���
)  ���(�	 
     �!
 ����
�
 ��@���
 �����CM


    ���=�
 �����
 E
 ���(��
 ,��) 
      �!
��
 ��!�� �(��8�
 ,���	

'���(�   !���
�
 ��� �   E��!��
 �
�O���.  
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7
	 � H�(��8� D5    ���
��
 ,��� ��:��
     ��!� �
��
    �!
        O�� ��!@ 9!:  �!�
�<�
?5
.   

18. 6 .#/#0	
 ���
�	
    

   I�	�!�
 �	�!=�
 9: #�1 ���� ���&�
 ��
����
 ����
 ��@Period System 
 2(� �=	�)       ������
 �
�($� �	=	
 2(��
 
��	 �
� �
    ��
�/��
 �
��43 � 61  

� 85     ����
 *��"	  87      5	 �$C�"
 9��
 �
���
 ,�� �����	     ����8�
 9: �=	� 
����@	 ��": ���	 Mattauch Isobar regulate��P�(�
 :   9!��
 �!�����
 �" 

� E�����
 +��8 �� ��=		 �=��19��C
 ����� .    

18. 1.6 "���  Technetium (Tc)    

     �����
 
�� %�C�"
 ��@ ��/ �(�(43Tc99) �@�..43      �!�����
 ������
 �" �1 
     �
 ���� ��(� ��	=	
�
 �����
 
���  !Molybdenum   ����7 ���3� ��/� ) ���	  

��"���
 ��� �����
 ! 94 � ��104 .    

  �
" ���� �=	��
 �7
 � 	� � ��- �
�
 ��	���
  	1         �!�"�
 ��!� *��" 5	 ����7 
 ��	���
 �����
)    �	(� *���	 �    : ��	=	
�
 ������
 ,�� �  9�@� 43    �	"� �1 �=� 

    ���@ 9$���
 ���
�	 ��C
 �����G      ���
4�
 ����� ����
 �
 ��" #�� .  �"�	 
�
 ��L
 9: O��(�
	 �4	�
 ���
� +��8 ��! Mass Spectrograph   
�!�� �=	

  %��? 8& �����
)    �
 ��
 #� 98�1	   !Masurium .      
�� �1 *�� ��� �=	 �(�	
8& ��"3.  

    ��� 9: �"�	1937���
�  �
 ��Cyclotron<��$
�
 *��"	 �  �!=	 ��		��
 
      ��	8�
 9$���
 �
��
 ���� �����
210.000 ��� )     �!��=�
 �����
 43Tc99 

� �����
 
��	�"
 ��8C�
 +��8 �� #=���� U235  ��� �	���� 2,6 gr Tc 
 �
 �	1 �����
 
��	1H����� U���)  �!�
 #� 98�1 ����
 
���	 Technetium   

�����
 I1E��
�
 .  

18. 2.6 "���  Promethium (Pm)  

    ���=�
 �����
 
��61Pm147     9
�/��
 ����
 �
���
 61     ����� ��� �"C� U��� 
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 <��$
�
 9:� ��		��
 )       ��
 ���&
�
	 #��
���
 �
 ��$��� I��
 �����
	 � 61Pm147 
 I	��� 9$���
 ,�
� I��
 ��(��
 �
 ���	�
2,64   �!"1	 �=	 �(�	 ��� 	  ,�	!=

�H�
�H�P��4�:	 � ��� 9: �1941.  

18. 3.6 "���  Astatin (At)  

     ���=�
 E��
�
 �����
 
��1   ��� 9: U��1940   !�
 ���!
 %�!@ +��8 ��  !
Wismut     �����C� 	1 ��
��=� α     I	��� �@�8 ���(� 32MeV     �
 +!��8 �� 

Cyclotron.  

    ��� 9: *��"	1945   �	��
� >�
�� %C�"
 	   : ��
�= �
 ��   �!��..Wienna 
���� *��"���C
 ���
 �7
 D<��@  Ra �
 *��"	Th�	=	
�
 ��  �!���8�
 9!: ) 

 EC
�
 ���=�
 ��/��
 
��	Astatin (85At211)5 9$���
 ,�
� I��
 �  �!�4 7,2   
 9
� �����Astatin  1�����
 ]��
�
 �����
 I.  

18. 4.6 "���  Francium (Fr)  

   �����
 
��1   �
 %� �
 U��  !Acitinium) ��	        ��!��
 �!
���
 ��!���
 

 9
�/��
87�
 87Fr223 ��- 5 I	��� 9$���
 ,�
� T1/2 = 21 min 9: %C�"
 

 ���1939 �����$�
 ��P��4�$�
 �
 Mlle Perey) ����: ����
 ��� #
�
 98�1	 
Francium.  

18. 5.6 "����  Transurane  

       ���
 �
 [�C� �1 ���� ���	Transurane: ����    ��P��
�" �����    9!: ��4�
         9
�!/��
 ��!���� �	��
�	��� E����
 I�	��
 �	�=�
92  !��
 �     �
 �!�����
 �	1 

Transurane   ��
 E��� �
	 �  �����
 *��" �
 =��
�
 ��     �	��
�	��
 %�@ +��8 �� 
U238   ������
 ���	��	�����  ) 
��
 �   !�
 ����   !Neptunium    �
 ��!��	 

Plutonium  
���
+����
 ��(�
 O�� 9: 
�"� �.   

:V�
 �����
 � !
��
 �	� Neptunium  #$C!�"
 Strassman  Meitner , 

Hahn    ��� 9:1939) : V      H�P��
�" ���&
	 ,�	=	 �"1 �����
 
�� �   9P��4�$�
 �
 �
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McMillan .   �
 9��7�
 �����
 �"�	 !Plutonium    ��!� 9!: %C!�"
	 �=	 
19449"��
�
 9P��
�"�
 �
 Seaberg 	 ,��-	 1���
 +��8 �� U�� ��
"� E��
����".   

 #�
 �=	� �����
 
��15'��/� 
��
	 �  94Pu238  �!���8�
 9: �=	� ��/��
 
��
 D<��@ �"�	)       �
 ���
	 9���8�
 �	��
�	��
 9: �
�� �"�	   !Carnotit    �!�
"�
 ,�� 

   �
 ���� �
 ����(�
  !Plutonium       �	��
�	��� ��&�
 ���
�
 9: ��	=	
�
 U238 
�= ���
� +��8 �� ��=	 ��
�.. α   �	!��
�	��
 ��!�� �<�
?
 �
 �=����


U238)     ��P�(���
 �
��8C�5
 �<��$� �� *��"	 ..   9��
�  U��2 �  ��3  ���	��	�� 
�	,����= �
 �8(��
 ���

	 ��	��
�	��
 Y	� �
 U238  	�
�@ �  �<��!$���

     ������
 ���$
 9: �:	��
�
1     !�
 ���� T���M ���	��
 	! Plutonium    ��!�  
�
������
 �����
:    

              92U238(n,γ)92U239  →  β +93Np239 →  β + 94Pu239
  

 *��"	Seaberg  ����
 ���� %C�"
 95 �
 Amaricium (Am) ) �!�	 
 
�	��
�	��
 9���8�
 �����
 %�(� U��1 �����
 U238  ��
��=�α   +!��8 �!� 

    ��$��
�
 �@�8�� A��
�
Cyclotron )     	��!� �!@�8 ���(�  I40MeV  ��!�  
 ������
 �����
�
:  

                         92U
238(α,n)94Pu241→β + 95Am241*    

   �
 ���� %C�"
 *��"	  !Curium 	    �����
 %�(� *��94Pu241     �!
 U����
 
 �����C� %�@αI	��� �@�8 ���(� 32MeV  )�
 �����
 U��1!Curium  ��� 
������
 �����
�
:   

               94Pu239(α,n)96Cm242 .. 94Pu239(α,3n)94Cm240   

�
 ���� %�(� *��" #=���� �"

 �����
 
��	Amaricium  ���	��	����� 
������
 �����
�
 ���:   

                        95Am241(n,γ)95Am242→β + 96Cm242  
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       �@�8� EC� #�1 ���� ��/��
 
��	3000    �����C� ��
 α 1      ��!�� �!
 �!7"
��
��
�	) 7
	 �           E?	 �����
 
�� �����C� �@�8 ���@ ���/�	 ���=��� *�� ��� D5

 >��	 9:1m gr ��� >�
 0,02 gr�
 ���� �
 94Cm240 )  %�!� ��
 ���	 
  ����1  ����;��� >�
�
 �&            �����!C� ��
�!� �@�8 ���@ ��� ��� �
 
��	 �&���
	

�
Curium  

 ��
�= 9:	Berkely  1  ��!� 9: U��1950 �
 ��!�� Berklium (BK) 
 ���
 �����   9
�/��
 97. 1        �
 ��!�� %�@ +��8 �� �����
 
�� U��Am241 

   �����C� ��
��=�1�$�α   �
 +��8 ��   !Cyclotron.     �!7<7 ���	 1    �!
 ��!C
 #&����1�
 ���	��	���� A	���" %	��
�
 �����
 U�� !Californium (Cf) �� 

�
 ���� %�@ +��8 !Cm252 ��
��=� *��" α�
 ��� ������
 �����
:   

             96Cm242(α,2n)98Cf244 .  96Cm242(α,n)98Cf245    

 #�
 �=	� ���	��	���� A	���" %	��
�
 �����
 
��	14'��/� )
 ��
�
 ��/��
	 
    ��/��
 	� ���
98Cf252    98�� I��
 1   ���	��	���
 �
 ��
" ��")   9$���
 ,�
�	 

5Y���� 1  �
 �7"T = 2,65 a ��� )	      ���!(� ��!�	��	�� B!�� ��!���
 
��
I	���..  

)         �
 ��
	 �
�-98Cf252 ����7�
 9: B�� 2,34.1012�	��	��  (  

�
 9:	����� 1�
 �
 ���� U��!  Transurrane��
 �������
 ������
 :  

�
 ���� !Einsteinium (ES) ����(�
 ��=$�
 ����&
 ��� %�� �����
 
�� 
    8���
  8��
 9: �����
  +�1952)  �4	 ��� �      ��!=$�5
 ���(�	 �����CM
 ���@	 

���-	�           '��
� �
�� ��	���
	 �����(�
 �
	�1 �"� ��	4
 ��P�8 ����� +��8 ��  �
����-	 �����CM
 O��(� �P�@ �	�� ��=$�5
 ���- �&
�.    

      I	��� 9
�/��
 ,��� �����
 
��99)    �����
 
��	 1      ��!� �!��&
�
 9: U��
1954   +��8 ��      9���8�
 �	��
�	��
 ���� Y	� %�@U238    �@�8 ���(� �"1  �� �

�
 ���
 ��� �
 �
�
!7N
14 ����
�
 )	 �=	: 1 �����
 U�� Ns  �<��!$��
 ���

������
 �����
�
 9::   
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        92U
238( 7N

14,6n) 99Es246 ..  92U
238(7N

14,5n)99Es247
  

�
 ���� �=	 *��"	 !Fermium (Fm)�8 �� *��" %��	   ��=$�5
 +�
   ��� I�
���
1952)   *��"	 1      ��� 9: ���&
�
 9: U��1954..    9
�!/��
 ����
	

I	��� �����
 
��� �
! ...100 Z =  *��"	1  %�!@ +��8 �� �����
 
�� U��
��/��
94Pu239    �!����
�
 ��!� ��" ��/� I1 ��� �
 T���� �	�� ���	��	����� 
������
:   

                              92Pu239 (15n,6β-) 100Fm254  

�
 ���� !Mendeleviun (Md))��� �����
 
�� ,  I	��!� 9
�/��
 101 
   �����
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�= 9!:  Berkeley  
������
 �����
�
 ���:     

                            98Cf249(8O
18,4n)106X

259
  

 �	=	 ����
�� �
��/��5
 E�����	Super Weight Elements �/��� %	� 
                �!@�8�
	 >�!�4�$�
 �!�� 9: ����= >��C1 �
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 Y��	

,��-	.  

�      �
�1 ���	 9��
 ������
 ,�� �" �6    �=	�	�"��
	 �8�
 9: �
���� ��)�  �"�	 

L    � �?���
 �@	 9: �      8� �
� �7
 ���= ��
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 �=��
 ���;�)         �"

�
 �
 9��
	 ��(�
 ��?�� �4
	�� �
���� ���
     ��!
 �!�� ���
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 ���� �1 ���"� �(�	  �
 Y����   !10 %    ,�!�� �!"�	
  ���& �
4�
 �����8��
1�?���
 �@	�
 9: ��	=	
�
 �����8��
 �
 �?:)��
	 � 

������
 8�(��
:   

1 � �   5 ��		��
 �����8��
 �   �P��� 9: �=	� �      �!�- ����
 
���	 �"���
 E8@  
?��
�>�8&X� )5 *��"	 �
4�� ������ .   

2 �  ������ �������	 � :����   ����
 �� ����@ )     !��@�8 ���!@ �"�	 �   ���!���� 
��4	���	�(
 )  9�:D�4	 %&1'���� ��	=	
�
 2����
 �����8� �
 ��  

3 � ���� �      �����8�
 �5���
 �" 9: A�8(�
 �	�� �
�G      ��
�!��
 8�	 9: D<7
 
�
 8�	 9: *��"	5	 ��	��� 6���� �7�8	;?�
	 ��
���
 ��(� .   

   ���
���
 �"

�
 �
 *���	�    ��
7� ������
 �����
 9: �   ��- �
E$��
) 
L  ����� �

  �
 �"�
�
 9: 5 9� �   �	�	�
 �"
�   �@	 �" 9: ����)   D<7
  �
�!C3"    ,�!�
�
 9!: 

Boje;�� 	1 �� � �����(�
 ��8�
Meteorology Station���"�
 �@�8���  ��P�) 
;�� *��"	��� ���
C�
 �@�8�
 �
 D5�� �������
 ��
@�
 �R�..  

     ��		��
 �����8��
 �
 ��7"�
 �
� �(�)   ���&	 
L     �=	� ����
�
 ���5	�
 9: �
 �!�
 ��� ��		��
 �����8��� E�
	 U
����System for nuclear Auxiliary 

power 
�
 �& ��
 ��� �� SNAP�<�
 �5	=�
 9: ��
��� !���-	 ��P�?$� 
 D<7
..  

SNAP.11   

    '���(� ���4	 I	��� ����8��
 ,�� �.16 I	��� �@�8 98�� �;�" 20Watt ����
 
���  I	��� ��
"� ��	4
  9����
 T�	
��
..7,5 Kgr �
 ��!�� �
 96Cm242 

����8��
 ,��� I�
�� E��
".   

SANP.19   

    �4� ����8��
 ,��12 �;�" )    '���(� I	��� �@�8 98��   �60Watt)   E��
� ��	4
 
   �
 ���� �
 ��
����  !94Pu238     ;�� ��
���
 ��		��
 ����8��
 ,��	 � !��   �!@�8�
 

o b e i k a n d l . c o m



377 

  �
 9: ��P����"�
�
(   9�����
 Nimbus        O�!�@	 �4	� W��
 �	� �	�� I��
 
 ��	=�
 �
	��
..  

SNAP.27   

    �4� ����8��
 ,��18 �;�" )       !'���(� I	��!� ��P����" �@�8 98��   �73Watt )
�	4
 ��
"� ��
���� E��
" 	1 ��&���� ,4,3 Kgr �
 ��!�� �
 94Pu238  ,�!� 

    ��� ��?	 ����8��
1     ��� 9: �
(�
 W�1968 ;�� �    �4�=1 ��P����"�
 �@�8��� I
     E�8��� ���	 �5���5
	 �����(�
1       �!���8��
 ,�!� �
4!�
 �� �(�(��
 �	(� �

    �
(�
 ��� ���
��
 ,��� ������
)   D5	1 �  �
 ���� �  !94Pu238     9$�!��
 ,�!
� 
T1/2..  '���(� I	���  �86 ���   )         
�!� 9: �����
 
�� �
 ��
	 �
�- �<�
?��	

 I	��� �@�8 98�� �@	�
42Kwh.  

B ��
 ����
� ���$�� ��
���
 ��		��
 �����8��
  Photo effect   

  
" %	��
�
 �
�   H�
�� [�C	 +�� � #�1         ��� I		� 	1 9P	? A��C� 8(�� �
� 
 ����@ �
	
  : A��C\� V     ��C
�
 ���
�
 U��� #�
���� *��" 8@���
 A��CM
 
�� �@�8 �) 

      8@���
 ���
�
 ,�� ��C@ ��� ���	��"�� 9: B��� 9��
 U����
 ���
�	�  U�!�� ����� 
  '��7" 9��
 �����CM
      ������
 ���(� 9: D<7
 ��
�� �
 
)     ��	4!
�
 %����� 	1 
  ��C
�
 �	$�$�
 ���
�)   ���	� 9: *��"	          �!���@ ���!
� *��!" ��	4
�
 �
�����
 

�
 >	? ����� 8(�� �
� A��C\�.   

�
 ���� �
 ����
�
 ��		��
 �����8��
 ,�� ���Radio nucleus  E!
 *��"	 
    � ����@ ���
 �
 8��&�E�C�)            �!
 �!��$� �!��
� B��� 8��&�
 8�	�
 
�� 9:	 

EC
�
 �����
 �<�
?
.   

     /�<� �1 �=� ���#�1  ��� �
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 ����
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λ = 1m / 1650763,73 = 6057,8021.10-10 m .  
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Isotope Mixed�C@ �5�� ��;� 	1 ��(��
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 3P10 to 
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 @ �
	    �
���
 ,��� ��1S3   *��"	 3P10 � O� �      �
 ��� �!@�8 ���� ��;� 5Kr 
 ���� �
������CM
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 ���� �&�  8<-�
 �
 )  '���& D<��� �  �
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�
 �
 �P�
 ����� ���
�� ��"��� ��� �=	� �� 

  ���
�" �@
�
�� ������� ��(��8 9: ���
 ����7�
Doppler effect   ,�!� �	!8	 
��;�� �@
�
�� ������� ��=	
�
.   

   �	(� 
���	�          ��- �����
 ,�=�
 ���(� +���
 I�
���
 ����
 *��� ��
9
�/�) 
��	  '
��(� 98�� 
� '����
 � Statistic         �8!�	�
 �!
�(� ��!=	
�
 �	8 >���M 

�"���
 ��- ��
�= ��� �����CM) ���@	 �
�
 �
�� !Doppler effect E�	�
�
 
      �8�	�
�
 �����
 +��8 �� ����� ����
�
 �
���.      �!�8&�
 ��"���
 �@�8�
 ���	 

�(7��
�
 Translation Energy	 4�;�
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�
 ����
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��� �
������
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              Ek = 3/2KT = 1/2 m.Ū2 .   Ū=√3KT/m  

I	��� ������
 ���<8�5
:   

Ū  =   �8�	�
�
 �����
m/Sec. 

T  =   �(�8
�
 ��
���
T0 = 0K= - 273,15°C.  

K  =   ����7Boltzman1,3806.10-23J.K-1. 

m  = 4�;�
 ��� ���".   

� ��� ��� ��?
	 ��	� ��/� �1 E�8��� 8�(��
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�� 
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�
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                                     λ = h c / E1 - E2  

	5
I	��� ������
 ���<8�:   

h =  �
�� ����7Planck 6,6262.10-34J.sec.  

c =  ]
�$�
 9: >	?�
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Structure Levels.  

                             Frequency   ν  =  1 / sec = 1 Hz   
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